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　以上から，
[image: image25.wmf]ADC

△

の面積は
[image: image26.wmf]ニヌネ

ノ

である。










Q000M13.doc
1/1

_1458041202.unknown

_1458041295.unknown

_1458041312.unknown

_1458041349.unknown

_1458041394.unknown

_1458041403.unknown

_1458041419.unknown

_1458041373.unknown

_1458041330.unknown

_1458041339.unknown

_1458041321.unknown

_1458041304.unknown

_1458041242.unknown

_1458041276.unknown

_1458041286.unknown

_1458041258.unknown

_1458041221.unknown

_1458041232.unknown

_1458041211.unknown

_1458041193.unknown

